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(/7) 0 30% |31 70|71 100
118.9 10.8 19.3 77.8 22.2 0 0
115.3 1.9 6.1 100 0 0 0
143.0 38.9 72.4 0 25.0 75.0 62.5
172.4 1.1 3.5 100 0 0 0
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+5 +9 | +15 | +19
47.5(48.2 |48.8|49.1|48.3| 102
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44.5 |1 44.7 | 44.9 | 45.7 | 41.7 94
47.7 |1 48.7 [ 48.2149.1(49.1| 103
( H.12.6.1 )
K (D)
(D)
7 186 0.0 0.0 0.5 0.5 98.9 1.0
___________________ S .14 429 214 214 7.1 7.1 92.9
7 35 0.0 0.0 0.0 0.0 100.0 0.0
___________________ S .2 160 8.0 28.0 32.0 16.0 ____ 84.0 __
7 35 0.0 0.0 0.0 0.0 100.0 0.0
___________________ S 24 .292 83 250 16.7 2.8 ____79.2
7 69 0.0 0.0 0.0 0.0 100.0 0.0
26 18 0.0 0.0 0.0 22.2 77.8 22.2
1 5:
4:
3:
2:
1:
2)
5
0
§ e — =~ = -
-10
w18 1/01 1/11 1/21 1/27

2/01 2/11 2/17 2/21



